160F9010 a

COMPONTENT: TYPE & VERSION

KFCM 42 - Al

. DRAWINGS REFERRED TO:

Assembly drawing

ISSUE

PSM.NO 160F1005 x

931222

LSI

930111

LSI

O O N oUW N R

W NN NN NN NN R R BB R B B B
O W o Ul W N O W R N U W N O

33

[T I R 'R VR TR VAN N + B R« AN N N« R A A TR A R A I

a

160F1311

033E3842

033E6181

231-1013

234-2031

Housing

Piston

Spindle

Top part

Spring guide

Spindle f. man. operation
Retainer

Bushing

Stop bush

Clamping ring

Spring holder

Locking ring

Hand lever shaft
Compression spring
Screw-plug 3/8"RG

O-ring 89.3 x 5.7

O-ring 72.75 x 1.78
O-ring 37.5 x 3.0

O=ring 35.5 x 3.0

O-ring 29.5 x 3.0
Scraper ¢50/¢60-7/10
Scraper ¢30/¢38-7/4

Disc spring 100/51 x 5.0
Thrust washer ¢50/¢62 x 3.0
Thrust washer ¢$20/¢28 x 2.0
Pin ¢10 x 90 DIN 7

Cyl. roller ¢4 x 6

Top cap $54 x 39

H R W R RN RN R R R R R R R R R R e

no
w

e =

GGG
GGG

40
40

S-1802

SKF

280

MS 58

. MS 58

MS 58

Esm.

Esm.

B
B

S-1802

Esm.

B

Ms 58

AIST 304

St.

9SMnPb28

NBR
NBR
NBR
NBR
NBR
NBR
NBR

60

70
70
70
70
70
90
90

50Crv4
Cc-75
c-75
St.50K
100Cr6

PVC

Al0
Al0
F10
B54
L05
LO5
L05
L50
L50
F10
L50
LO5
FO5

B10
NBR
NBR
NBR
NBR
NBR

N15

ROL

DSH. 162 3.000 - NPC-tryk

931223



COMPONTENT: TYPE & VERSION

KFCM 42 - Al

PSM.NO

160F1005

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46

L e e e L

47 a
48
49

234-0848

250-2136
252-1587

208-0053

023-6771

208-0053

219-0177

044-4551

Knob f. handle ¢40 x ¢l2

Crosshead DIN 6335

Screw M12 x 40, 6K DIN 933
Pointed screw M8 x 16 DIN 914
Pointed screw M5 x 10 DIN 915
Pointed screw Mé x 6 DIN 916
Pointed screw M4 x 4 DIN 916
Nut M18 DIN 934
Washer ¢17/¢22 x 1.5
Name plate 74 x 51 x 0.5
Pin ¢1.9 x 5
X-ring 50.17/60.83 x 5.33
O-ring 19.6 x 2.4
Cable ties 5 x 360
Air escape valve

Housing

Cone spindle

Compression spring

Disc ¢5.3 DIN 125

O=ring 5.1 x 1.6

Pin 1.5 & 15
Washer ¢17/¢22 x 1.5
O-ring 35.5 x 3.0
O-ring 101.32 x 1.78

Seal kit KFCM 42
Consisting of:

Item 17-18-19-20-21-
22-23-43-44-48-49.

Release Lever Unit

Consisting of:
Item 11-12-15-33-38.

T T Tl = e o T = N S S NG S S S S S O S SRR TR N R

Phenol
EL-Zn+
8.8

70/n4
14.9
70/A2
70/A2
50/A2
Copper DLP
Stainless
50/A2

NBR 85
NBR 70
Nylon 6.6

MS 58

MS 58
St.60
Steel

NBR 70
Copper DLP
Copper DLP
NBR 70

NBR 70

08.8
724
14.9
7TAZ2
7A2
5A2
LO2
F90
5A2
PD
NBR

LO5
LO5

NBR
L02
L02
NBR
NBR

DSH. 163 3.000 - NPC-tryk

931223



